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FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM
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FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

FCI Category 2 Exam Pattern: Phase-2 (Paper 1)

Section No. Of Questions Maximum Marks Time Duration
English Language 25 25 20 Minutes
Reasoning Ability 25 25 20 Minutes
Numerical Aptitude 25 25 20 Minutes
General Studies 45 45 30 Minutes

Total 120 120 90 Minutes



FCI AG 11l PHASE-2 ( REASONING )

CUT OFF :-

at 9:00 AM

Name of The Stream- AG-Ill General , AG-IIl Depot

Category Previous Year’s Cut Off
General 73
OBC 65
SC 63
ST 62
Ex-Servicemen /2
People with Disabilities 60



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

CUT OFF :-

Name of The Stream - AG-Ill Technical, AG-1ll Accounts

Category Previous Year’s Cut Off
General 206
OBC 192
SC 172
ST 166
Ex-Servicemen 134

People with Disabilities 136



FCI AG Il PHASE-2 ( REASONING )
458 945 674 775 598

If three 1s subtracted from the first digit of each of the numbers and

then the first and the second digits are interchanged, then which of

the following will be the 3rd lowest number?

AT e TEAT o Tl 3ok § o1 BT ot STTg 371 fohe oeet 3 g

37k ol 3ATYE | o [¢I1 SIE, o1 9 T § shid 9t 1) Ted it T
SRl

a) 458 b) 945 c) 674 d)775 e) 598



FCI AG Il PHASE-2 ( REASONING )
458 944 674 775 598

If first and third digits of all numbers are multiply to each other and

second digit add 1n result of multiply So what will be the 2nd
highest number ?

i Tt HEATSAT o Tacd I L 3ok shi SATHH H 0T TohaT ST 3R
TTOTT o TICOTTH | 8T 3feh <Rl STIST ST T GOl Hei il e o gt

a) 458 b) 945 c) 674 d)775 e) 598 ar



FCI AG Il PHASE-2 ( REASONING )
TRP MBA NCP RJD Y SR POT

How many vowels are there 1n the English alphabetical series 1n
between the 3rd letter of 2nd word tfrom the left end and 1st letter of
the last word from the left end?

AU JUHTAT H T4 @7{@3\@{ 3T8c oh dTEL T 3T &1 B § 3w

ITec o Uao] 37T o o fohad & 22

a) 11 b) 12 YRY d) 15 ¢) None of these



FCI AG Il PHASE-2 ( REASONING )
TRP MBA NCP RJD YSR POT

If each letter of each of the word 1s arranged according to the

alphabetical series, then after arranging those new word according

to the dictionary order, find which is the third letter of the word,

which 1s fourth from the right end?

1d Tk TTe8 oh Tedoh JT&T shi AUTIhH oh TR ST TEAd TohaT STTel
N NN N N NN

2, Al 37 U ITaT hl I[6GhIIT 5hH FTAR AT i oh oS, IT6E ]

T TR AT AT 7, S S DI H AT -2

a)T b)P ¢c)Md)Y ¢)R




R\

FCI AG Il PHASE-2 ( REASONING )
In the given word ‘SPLENDOR ’, in which consonant changed into its

previous letter and the vowel into its next letter (according to the
alphabetical order) and then all letters are arranged 1n alphabetical order
from left to right then which of the following letter 1s fifth from the left
end?

{3 1T 975 'SPLENDOR!' |, S8 s 3194 fUsel 318 § 3R & 3704 37T
&R H SIS 7T (AUTIASHH oh STTHI) F T Tl ST& skl JUTHA | o4 €

3T afed foraT SITaT 8, af 9 | 9 i 97 2787 © 914 B ¥ Ui=di?

@R (b)O (©)K (d)M (e) C T



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM
Statements:

A>M>R=F27Z<X<C<V>B>N

Conclusion:
[: A2Z 4
II: Z<V



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements:
7<XSC<<G<HSJ

Conclusion:
I: Z<G Ei
II; X<]J




FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements :
Q2W2E2R<T<Y<USI
Conclusion :

[: Q2T 24
II: RSI




FCI AG Il PHASE-2 ( REASONING )
Statements:

A<S<D=/<X<C
Conclusion:

I: A<C
I1I: C2G



FCI AG Il PHASE-2 ( REASONING )
Statements:

C=V>B>N>M<S<D<F<G
Conclusion:

[: B>M

II: M<G



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

In a Certain code 81520 is written as 315124 ,than find the code for
4125 ?
U FAfa wIE o 81520 T RIS 315124 AT T=AT 2 A¥ 4125 T HIS HAT

T 2

(1) 1497820
PARPARIVI
(3) 0023256
(4) 1315190
(5) None of these



FCI AG 1ll PHASE-2 ( REASONING )
In a Certain code WINDOW is written as 193441 ,than find the code for

JOKE ?
us FAtea S ® WINDOW T R 193441 for@t =t @ af JOKE T
hHIS T T 2

(1) 1400
(2) 1405
R)PARL S
(4) 1315
(5) None of these



FCI AG 1ll PHASE-2 ( REASONING )
In a Certain code MASTER is written as 911054 ,than find the code for

LAPTOP ?
ueh fAfara e W MASTER w1 i 911054 fer@t wam @ @ LAPTOP @t

<hI AT BT 2

(1) 416056
(2) 140655
R)PRZFI
(4) 431504
(5) None of these



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

‘value theme particle around’ 1s written as ‘tfk dm un ssd’

‘song new theme sing’ 1s written as ‘dj xy tfk sr¢’
‘sing loud particle mix’ 1s written as ‘ssd bt src hnm’

‘around theme mix song’ 1s written as ‘xy un tfk bt’

What 1s the code of ‘around’? / 'Around' bl %< H 27

l.un 2. dm 3. dj 4. src 5. ssd




FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

“Never talk between others” 1s coded as “sm nt ro f1”’

“Others should be helpful” 1s coded as “ro el ac jq”
“Never be time specific” 1s coded as “f1 dg el pa”

“Focus between specific hours” i1s coded as “hy dg nt ks”

What is the code for “Never together” in the given code language?
<1778 e AT H “Never Together” & foTt she &RIT &7

(antro  (b)ro f1 (c)fiuy (d)jgnt (e) dgnt



FCI AG Il PHASE-2 ( REASONING )
Statements: EXCE
Some keys are doors @Wm%
All keys are locks gt STt dTa %
All doors are rooms gt ST Y %
No room is a hotel hIE HUU BT Tl &

Conclusions: ]Q-I"EFGIQ:

(I) All hotels being locks is a possibility T4 BIZal ok dTct B 3hl TYTEHT &
(IT) No lock is a door SRS dTeAT SLTSIT el &

(ITI) No hotel is a door °h\|$° S\Idcfl LIS Q%{T%

(IV) At least some Kkeys are rooms 9 4 A RO IERIELIN




FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility
(IT) No lock is a door

(IIT) No hotel is a door

(IV) At least some keys are rooms



FCI AG 11l PHASE-2 ( REASONING )

Statements:

No mobile is pencil
All pens are mobiles
All cars are pencils
All pencils are bikes
Conclusions:

(I) No penis a car

(IT) All pens being bikes is a possibility

(IIT) All cars are bikes
(IV) All bikes are mobiles

hY:

IS HiesA U Ta1 &

el U7 71eTEd @
ot R Ui &

oYl UTHet a1Eeh &

freen:

IS U h e @

) U o S35k B ohl GHTaHT @
g T T5F ©

gt STk HidEd ©




. FCI AG 1ll PHASE-2 ( REASONING ) at 9:00 AM
| Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No penis a car

(IT) All pens being bikes is a possibility
(IIT) All cars are bikes

(IV) All bikes are mobiles



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM
b Y

% oI5 FI ol
%S I B ol
T} ¢ftpen T &
FS [ U 2
s

S el FR &l
S itheh US ©.

I1. Some traffics are roads. :
FS e a5

II1. Some signals are bikes. - :
S TSoh T ol

Statements:

Some bikes are cars.

Some cars are traffics.
All traffics are signals.
Some signals are roads.

Conclusions:

I. Some signals are cars.

IV. Some roads are cars.



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements:

Some bikes are cars.

Some cars are traffics.

All traffics are signals.
Some signals are roads.
Conclusions:

I. Some signals are cars.
I1. Some traffics are roads.
II1. Some signals are bikes.

IV. Some roads are cars.



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements: hd-:
. a
All Duck is Bird. gff er a2,
¢ a_ﬁ <
All Bird is Sparrow. gyt 7 T &,

N N\ ¢
Only a few Crow are Sparrow. 9l p® onl T 2

Conclusions: EL=ak

“\ C
All Crow are Bird. g+l shl € B

Some Duck are Sparrow. DY Son €U @,



FCI AG 11l PHASE-2 ( REASONING )

Statements:
All Duck is Bird.
All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:
All Crow are Bird.

Some Duck are Sparrow.

at 9:00 AM



FCI AG 11l PHASE-2 ( REASONING )

Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.
Conclusions:
Some Swati can be Vani.

All Manali being Vani is a
possibility.

at 9:00 AM

FT
hId S T HATSA o
had S T 17 &)
FI‘JﬁGITUﬁﬁT?
Ty

S LT vt & Fhelt o
g} 77T & o B
T 2




FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

Statements:

Only a few Swati are Manali.
Only a Few Manali are Vani.
All Vani are Roma.
Conclusions:

Some Swati can be Vani.

All Manali being Vani is a possibility.



FCI AG Il PHASE-2 ( REASONING )
In the family of 10 persons A, B, C, DE, F, G, H, I and J. There are four

generation 1n the family. Only married couple has children. H 1s brother of

F’s father. C 1s sister in law of J who 1s son of G. J 1s married to I, who has
only one sister. E 1s mother of F who 1s spouse G. F 1s grand father of D

who 1s brother of B. G has only one grandson.

10 ==feAT A, B, C, D E, F, G, H, 1 31 J & YRR # qiar & =) difet 2
haet faarfed Siie o & == 8Id 21 H, F o fUa1 T 918 81 C, J 3t foer g3 <t
2, S G AR I 5 J, [ fanfed &, [Seeht shaet Tk sie 1 B, F i af g st G 3l
Tl 21 F, D %1 21eT 2 ST B &7 918 81 G AT halcl Teh JIdT 2




R\

FCI AG 11l PHASE-2 ( REASONING )

In the family of 10 persons A, B,
C,DE,F, G, H, I and J. There are
four generation in the family. Only
married couple has children. H 1s
brother of F’s father. C 1s sister in
law of J who 1s son of G. J 1s
married to I, who has only one
sister. E 1s mother of F who 1s
spouse G. F 1s grand father of D
who 1s brother of B. G has only

one grandson.

at 9:00 AM



FCI AG 11l PHASE-2 ( REASONING ) at 9:00 AM

[~

Seven persons from P to V P ¥ V e 1 AT S SRS
come in a meeting room. V FT H ATl V, Q h 3
came just before Q. Only three ~ U&at 3T R 3R S o o9
persons came between R and S.  shgo] 9 =<k AN S, P %
S came immediately after P. No a5 q1e 37/Im) <Rl oft P 31X
one came between P and QQ such Q ¥ s Q'FIT:l%(T S IRIRED Q.
that Q came before P. Only one PR ) e 0 =Ih

R 3R T & = 9 3110

person came between R and T.
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FCI AG 11l PHASE-2 ( REASONING )

Seven persons from P to V
come 1n a meeting room. V
came just before Q. Only three
persons came between R and S.
S came immediately after P. No
one came between P and QQ such
that Q came before P. Only one

person came between R and T.

at 9:00 AM



FCI AG 11l PHASE-2 ( REASONING )
6 person A B C D E and F are standing around

the triangle such that 3 persons standing in the
corer are facing away from the centre and 3
persons standing along the side are facing
towards the centre. Those standing at the
corners like either Black or White and those
standing along the sides either Red or Blue. E
and F standing to the immediate left of each
other. Neither E nor the person standing
adjacent to E likes Black. Neither F nor the
person standing adjacent to F likes Blue. 2
persons are standing between B and E. 2
persons are standing between F and A. C is
standing to the immediate left of the only
persons who likes Blue . Same number of

persons like Black and Red.

6 =afth A B C D E 3R F 59 & =Rl AR

e 3, R @ i satw form mEs § o
g o foradfia o T & e di st qerett
FUTH TS 2 AR hg hl AR R E | 98
STk W fohaR ® @2 & 378 3T AF hreAr A
TS T U 7 AR 98 S 1 JI1ell &
AT W WS B 3w AT AT AT AT AT TT UeE g
| E 3T F Ueh O o deehTel o18 AR TS B 7
T E AR T & E U U ST i*h ehil Shiell T U6g
T A F SR ATEH F & 6 6 i AT &
g gl 2 SO B 3IRE F T @S e | 2
=6 F 317 A & 919 @2 2 8| THuT
Stk T8 AT T UEE § ,36ch deehlel dT0
ATTH C WST BT 2 HTeT R AT T1 U
T ATl SATRAT hl AT THI 2 |



FCI AG 111 PHASE-2 ( REASONING )
6 person A B C D E and F are standing around

the triangle such that 3 persons standing in the
corer are facing away from the centre and 3
persons standing along the side are facing
towards the centre. Those standing at the
corners like either Black or White and those
standing along the sides either Red or Blue. E
and F standing to the immediate left of each
other. Neither E nor the person standing
adjacent to E likes Black. Neither F nor the
person standing adjacent to F likes Blue. 2
persons are standing between B and E. 2
persons are standing between F and A. C is
standing to the immediate left of the only
persons who likes Blue . Same number of

persons like Black and Red.

at 9:00 AM



